o|J

@ 3x+5x=-2+1

D 3x-5x=-2+1

@ 3x+5x=-2-1

® 3x-5x=-2-1

B 3x+5x=2-1



o]

=

=

AP A 5x -2 = 8 — x oAl F o] -2

Q]
=

A
ofu
™

@ ¥Hof 2 & =t

o

Ho




6x—-5=-x+4

6x+x=4+0

@ 4

3 5



—2x+5="T-5x

@ -2x-5x=7-5

DO -2x+5x=T74+5

-7-5

@ -2x+ 5x

® -2x-5x=7+5

B —2x+5x=7-5



2x 4+ 4 = 10—-4x

@ 2x-4x=10+4

D 2x+4x=10-4

@ 2x+4x=-10-4

® 2x+4x=10+4

B 2x—4x=10—-4



3x+T7=-5x-1

3x+5x=-1-[ |
=[]
ax= ] .

A= & 22

Ll
i

7kl Soizt 4

® 7,2,-8,-4 ® 7,8,-8,1 ® 7,8,-8,-1

@ -7.8-8, -1 ® -7.8,-8.1



A 5x —4(x—1) =8 - x5 ZH?

70
)

H}FA

2}

@ x=-1 @ x=1

D x=-2

® x=3

@ x=2



£ Az A

o

ol AT
o g
ool




ol Kar)

=1

.

ul



@ 1 G 2

3 0



11.

HF

o

A

A
=1

D1

0.5x— 1.2 =0.2x + 0.32] = F5}4H ?

@ 2 3 3 @ 4



12, o2 A4 0.6x-2=0.1x o Sh=
) 10
@ -4 @ v ® )

Foh?

® 40



13. W84 0.5(x+2) = 1.3 +0.2x °] =7

D -1 ® 0 A 1



)

o_a

ol




® x=-2

@ x=-10

@ x=-15

10






1

|

ot

ol

ok WAl

0.2x+04=-0.17x-0.34

@ x=-3 @ x=-2 @ x=2
@ x=0 B x=1




PR 0.01x + 4.1 = —0.02x — 0.1

Q1%
=

18.

@O x=-140

B x = 140

@ x=17






@ 2 B 3

1



